Exam 2; Finance 4360; Fall 2005





Name __________________________________

Short answer questions/problems

Note:  if you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  Sketch a graph of the minimum value of a call on Cendant stock if the exercise price on the call is $20 per share.  Specifically identify the minimum value if Cendant stock equals $18 per share and $23 per share.

2.  State the relationship that exists between the payoff on a bond issued by Computer Sciences Corporation, the payoff on a bond issued by the U.S. Federal Government, and the payoff on options.  Note:  state this relationship using words rather than graphs or equations.  Be specific.
3.  One of the fundamental tools for resolving conflicts of interest within the firm is the use of contracts.  State the ultimate (but likely unobtainable) goal of such contracts.

4.  What is capital rationing?  Which capital budgeting rule (besides NPV) is likely to prove most helpful as the firm decides which projects to undertake when capital rationing exists?

5.  Boeing and Lockheed have proposed combining their rocket businesses.  One impact of such a merger is that inventory levels would drop by $61 million one year from today and accounts payable would drop by $17 million one year from today.  If the marginal tax rate for the combined firm would be 35%, calculate the impact of these changes on the incremental after-tax cash flows a year from today as used in analyzing whether or not the firms should merge their rocket businesses?  (Note:  use a “+” to indicate a net cash inflow and a “-“ to indicate a net cash outflow).

6.  Define opportunity cost and give one example related to Chrysler’s current attempt to cut costs by reducing their spending on the development of new vehicles.

7.  GE’s pipeline solutions unit plans to build a new facility in Mission, Kansas.  Write down the basic model (equation) you would use to evaluate the impact of GE being able to sell the facility if the growth in sales by this GE unit do not materialize as expected.
8.  Assume you are attempting to evaluate the impact of being able expand a factory if sales exceed expectations by using the Black-Scholes Option Pricing model.  What would you use for E and V?  

9.  You are considering building a McDonalds next to the McGregor airport.  The initial cost to open a new McDonalds is estimated to be $1,000,000.  This cost would be depreciated on a straight-line basis over 20 years.  Given the required return on a McDonalds, you estimate that the $1,000,000 today has the same present value as $113,477 per year for the next 20 years.  Write down the equation (or equations) that would allow you to figure out how many burgers you will have to sell each year for the net present value of your investment to equal zero and plug as many numbers as possible (given the information in this question) into that equation (or equations).  Note:  assume that prices and costs will be the same every year for the next 20 years.

10.  In order to analyze whether or not to build a small Shipley’s near the McGregor Airport, you have decided to sketch a decision tree to reflect the following information.  If sales equal expectations, you plan to continue to operate the Shipley’s.  However, if sales exceed expectations, you have to decide whether to continue to operate the Shipley’s or to expand.  If sales are less than expected, you will have to decide whether to continue to operate the Shipley’s or sell the facilities.  

Problems/Essays

1.  Amazon currently has assets with a market value of $21 billion and an average life of 2 years.  These assets have been funded with equity and with debt that matures 4 years from today (in 2009) for $1.9 billion.  Amazon is building a series of physical book stores at a cost of $10 billion.  Amazon estimates that these stores will generate net cash flow with a present value of $15 billion.  The new stores will be funded by using $1 billion of cash, by issuing additional debt that matures 4 years from today for $3 billion, and by issuing common stock.  The standard deviation of returns on these new stores would be 20% which is much lower than the standard deviation of returns on Amazon’s existing assets of 41%.  Once the store is built the overall standard deviation of returns on Amazon’s assets will fall to 33%.  In addition, the standard deviation of returns on Amazon’s stock will fall from 46% to 37%.

The APR on Treasuries with continuous compounding varies by maturity as follows:  1-year = 4.25%, 

2-year = 4.28%, 3-year = 4.35%, 4-year = 4.40%, 5-year = 4.41%

Q:  Calculate the current value of Amazon stock and the current value of Amazon bonds after the new stores are built?

2.  You currently own 200 shares of BP.  You do not want to sell the BP shares, but you are concerned that BP’s stock price will fall from its current $67 per share as gasoline prices fall.  To protect your investment you are considering using puts that expire on November 18th (21 days from today) with an exercise price of $65 per share.  In thinking about whether or not to use the puts, you have gathered the following information:  

APR (assuming continuous compounding) on T-bills:  11/3 = 3.27%; 11/10 = 3.42%; 11/17 = 3.55%; 11/25 = 3.65%.  Note:  the dates are when the T-bills mature.

Prices of calls that expire on November 18th for various exercise prices:  55 = $12.10; 60 = $7.15; 65 = $2.75; 70 = $0.50.  Note:  in each case, the number before the equals sign is the exercise price and the number after the equal sign is the call price.

a.  Based on your desire to protect yourself from a drop in the BP price, would you buy or sell puts?  How many contracts?

b.  Given this information, what is a fair price for the puts?  Note:  answer on a per-share basis.

c.  Sketch a graph of the payoff (on a per share basis) you can expect on your puts plus your shares as a function of BP’s stock price on November 18th.  On your graph, label your total payoff if the stock price climbs to $80 per share and if the price for BP falls to $50 per share.  Use numbers (in your labels) wherever possible.
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